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9% does not follow from 9.

97 Since A has nonnegative entries and row sums 1, bn@nn—t < bnn,
and there is no need for line 98.
90 7yt should read (r+1)3 !
The formula for I, on 9° does not agree with the value for I, given on
line 87.
10° How does this follow from line 1087

I stopped reading the paper at this point.

This paper contains no examples to show thast the theorems of this
paper are indeed generalizations of the results of [1].

Here are some grammatical corrections that need to be made in the
first nine pages.
37 Since, the should read Since the
312 — 313 Delete "should be --- of sint.” and replace it with the fol-
lowing:

sint/2 should be used instead of sin ¢.
316 begin. should read beginning.

316 formulate the general should read formulate general
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37 and modulus should read and the modulus

317 entries of should read entries of the

35 such w, should read such an w,

33 that for should read that, for

33 >0 should read >0,

49,54,5'° 55 considered x. Please state the interval being used.
45 satisfy the should read satisfy

5 and in should read and,in

51,512 612 —1/p should read —1/p,

5°  of matrix should read of the matrix

5° such tath should read as

55 (1.10) is the wrong reference number.

57 satsfies should read satisfy

5% of matriz should read of the matrix

52 and in the case should read and, for

511 satisfy the condition should read satisfy condition
54 18 monin- should read is a nonin-

5, for any should read for any

5, This line should be in italics, since it a part of the statement of
Corollary 1.

6! note, that in should read note that, in

6" Delete "is used”.

6* which should read is used, which

6* , but should be used the should read . Instead,
6* —6° Delete "of the form”.

6°  (2.7). should read (2.7)should be used.

6% formulate should read reformulate

6% on estimates of L” norm should read on the LP

estimate of the norm
67 Delete " the”.

612 in the case should read , for

67 In the case If

6 nondecreases should read is nondecreasing

65 Under additional should read Under the additional
64 but in Theorem 4 is should read , but in Theorem 4, it is
62 assumption f should read assumption that f

713 in the case should read for

713 o0, only. should read oo only.

8* and since should read and, since

8%]quad Should k — 1 be k + 17
7s Now, we should read Now we



8s of the type should read of type



